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Part -1 (01 -50)

. Fill'in the blank with the correct option.

During the war, our soldiers will the enemy and secure our land.

A) annilate B) annelate
C) annabhilate D) annihilate

is not a punctuation mark.

A) Dash B) Question mark
C) Hashtag D) Period or full point
. Fill in the blank with an appropriate relative pronoun.
The companies, are under the scanner of investigation will have to prove their
innocence.
A)when B) how
C)who D) that

. Choose the correct opposite meaning word for the underlined word.
| didn't know she was so learned.

A)well read B) mature
C) accomplished D) ignorant

. Fill in the blank with the correct option.

For some reason, | a change in her attitude.
A) percieved B) preceived
C) perceived D) precieved

~ Choose the synonym to the given highlighted word.

Pester
A) Funny B) Crazy
C) Sorrowful D) Trouble

. Choose the correct option showing the proper prefix to the highlighted word given.
Interest

A) Anti-interest B) Disinterest
C) Misinterest D) Pro-interest

. Choose the correct option to give a one-word substitution for the given sentence.
The science that deals with the production, control, transmission, reception, and effects of
sound.

A) Sound barrier B) Acoustics
C) Peripheral D) Bystander
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9. Fill in the blanks with the correct idioms or phrases in the options.
I've been practicing for months for the dance competition, so I'm hoping to:

A) Hit the ground running B) A rough ride
C)Be a dark horse D) Have a lot on my plate
10.Choose the option to fill in the correct articles to the sentence.
old, injured man went to police station to file report about his
accident.
A)The, a, an B) An, the, a
C) An, the, the D) The, an, the

11.89R 9y =41 Aic gR1 fadifed gias ergHod sequr | HTITE I/
The book ‘Timeless Laxman’ released by our Prime Minister Modi consists of
A) 3R, >, FY&ﬂWﬁW$ﬂT3ﬁ/ short stories of R. K. Laxman
B) 3R, . TEHUI B! bIddlSdl / R. K. Laxman's poetry

C) 3R, &. 3%%@%@?@/ award winning novels of R. K. Laxman
D) f&fores wide ¥ 3R, &. F'Y&II'UT$$I§:[/ R. K. Laxman'’s cartoon in digital format

12. IR SBTEH RIEBR forat HTIT3{f H IHP TGdl a6 S/h| b Il Sal 82 /

The Sahitya Akademi Award recognizes writers of outstanding merit in how many
languages?

A)15 B) 20

Q)24 D)29

13. Fofofed o 9 fod o™ 921 & SRIUS & =0 H SHET S1ar A1? /
Who among the following was known as the founder of Slave Dynasty?
A) SGT3EH RaSSll / Ala-ud-din Khilji
B) ATRI®E M H§HG / Nasir-ud-din Mahmud
C) MY Ie-GIH SedRT / Shams-ud-din Iltutmish

D) P U§d / Qutub-ud-din Aibak

14.4Ra o IR WWW% / The second highest civilian honour in India is:
A) HRd Xd / Bharat Ratna B) Usl YYUT / Padma Bhushan
C) U=l faymUT / Padma Vibhushan D)UsT 4t / Padma Shri

15. Yore # fRq Rie °rct &1 v ™S gl /

is an Indus Valley site located in Punjab.

A)TS / Ropar B) BIYS / Lothal
C)Picarst / Kot Diji D) IRHBIAST / Surkotada
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16. IRERIET B g 9 I W ST ST 8: / Barasingha is also known as:

A)ST / Tiger B) B1aft / Elephant
C)@W%TR/Swamp Deer D)ﬁ?/ Lion

17.9151de TR &1 164 forg et faeam mar ur? / Project Tiger was formed in which year?
A) 1987 B) 1973
C) 1985 D) 1982

18. HRd 3R I & s pt A HT Wt dpgrSmargl /

The boundary line between India and Afghanistan is also known:

A)E{\"@'i@/ Durand Line B)WW/ Radcliffe Line
C) BhHET YT / McMahon Line D) R hid IWT / Sir Creek Line

19.Fufofad & § H1F-11 RIF YaH M9 §& BT TH-IH 87 /
Which of the following places is the birthplace of Lord Gautam Buddha?
A) G ([UT®) / Lumbini (Nepal)
B) AT (fNER, HRd) / Bodh Gaya (Bihar, India)
CO) IRAY (G?REI%’-J HRd) / Sarnath (Uttar Pradesh, India)
D)g»Q‘I\I*HR (3R YT, HIRd) / Kushinagar (Uttar Pradesh, India)

20. g P! Il Bt U fafY B St i dar gt & feeR few wma §1 /
is a wheat cultivation method where the seeds are scattered in the prepared soil.

A) IR faf¥ / Broadcasting method B) feafd fafer / Dibbling method
@) %I@" fafdr/ Drilling method D)%Uﬁﬁ[/ Drip method

21.U% Bl DI 3 BT BT I 43 faan, 56 fT IR 66 fomm ot fooam at g1 waft ot
B3 &7 3d aoi fBa18? / The body weight of 3 girl students in a class is recorded
as 43 kg, 56 kg, and 66 kg. What is the average body weight of all three girl students?

A) 50 T3 / 50 kg B) 52 fdhUT / 52 kg
)55 fbUT / 55 kg D) 56 fdUT / 56 kg

22. Frafefad Semsit & g &1 3iud AF 1 S| /

Find the average of the following set of numbers.
93, 17, 75, 45, 95.

A) 64 B) 63
C)65 D) 66
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23. 3T, WA 3R SN F B AT BT SUIT HH: 4 : 7 : 8 1 AR WA 3R 31N o} 3y
& o1 &1 SR 12 99 §, l YR 3R WA B 31 & o BT 3R {1 87/
The ratio between the ages of Suresh, Parveen, and Abhishek is 4 : 7 : 8 respectively.
If the difference between the ages of Parveen and Abhishek is 12 years then, what is the
difference between the ages of Suresh and Parveen?

A)43 T /43 years B) 45 TY / 45 years
C)46 TN /46 years D)36 TY / 36 years

24. 7 & TS 50T B TeATSl &1 TH HH g1 dGIUR Ted Yale & ygdH e | /
The series given below contains a sequence of numbers. Accordingly identify the
INCORRECT combination.

25, 23, 20, 16, 10, 5

A)10 B)5
)20 D) 25

25. &Y T QR BR 1,20,000 ¥ H WRIGAT § R IHB! IRFI TR 30,000 TUF T Sl
21 3¢ 98 HR &1 1,80,000 YA A Tl §, @l IUHT 31Y Hfazrd g1/

Subodh buys an old car for Rs. 1,20,000 and spends Rs. 30,000 on its repairs.
If he sells the car for Rs. 1,80,000, his gain percent is .

A)20% B)15%
C)10% D) 5%

26.U% fAfREd ®ls # 'TRUCK' &Y '4279# a1 ST 8 SR 'BREAK' &Y '32584" foram ST
I B H 'TRACK' ! T forg SIET? / In a certain code ‘TRUCK' is written as ‘4279#'
and 'BREAK' is written as ‘3258#’, then how the 'TRACK' is written in that code?

A) 2579# B) 4289#
C)3279# D)4258#
27.1;&7[1%'@' ? F - R HH-1 HER ATU? / Which letter replaces the question mark(?)
? B
K G
AU B) R
Qv D)y

28.U% 4RI &} T3 & For 9w U ug I 81 98 e faded g S SRaa B! QR B/ A series

is given with one term missing. Choose the CORRECT option that will complete the series.
LMN, NPP, PSR, ?

A) QRS B) RQT
C)PQR D)RVT
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29.7f¢ Td HIMER 2 50 HI TP AIcgd 99 W 2 10 HT BTH UK BT @, Al AIcqd &1 64
H\Fq%: / If a shopkeeper gains % 10 by selling a notebook for ¥ 50, then the cost price
of the notebook is:

A)X 60 B)% 30
R 20 D)z 40

30.TF MRIT PSS H5778H16687H TUA @A g ST HISH 7543 B A
ol SIEIT? / In a certain code, 57 7 8 is written as 6 6 8 7. How will 7 5 4 3 be written
in the same code?

A)4582 B)8254
8452 D)5842

31. FUfeRad & SH-91 38R TW 8?7 / What is the missing letter?

X|C|=m|O|r
niolZ|[—-|1o
Z|-|o|o|>»
NS |0~

A)N B)I
ou D)T

32. 7 & IS geT H WRetell &1 U %A 8| dI9R Ted Yale & UgdH & | /
The series given below contains a sequence of numbers.
Accordingly identify the INCORRECT combination.
3,6,18, 72, 350

A)18 B) 72
Q6 D)350
33.9f7:a:28:40 %, Al a f[hU® SRIGR 82 /1f 7: a :: 28 : 40, then a is equal to:

A8 B) 9
G 10 D) 11

343 TN 2:3F T g1 afg ugd ¥ 2 ger far o ofiR g | 2 Sirs fear g,
SUId 1: 2 B ST & | TReaif &1 TN B: / Two numbers are in the ratio 2 : 3.
If 2 is subtracted from the first and 2 is added to the second, the ratio becomes 1 : 2.
The sum of the numbers is:

A)30 B)28
Q)24 D) 10
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35, 3T 3R IR B AT BT SUTd HHT: 15 : 17 81 6 T8 d1e;, 3T BT AT 9 : 10 BRI 6
I q1E IS B H@W@Tﬁ? / The age of Ranjana and Rakhi are in the ratio of 15: 17,
respectively. After 6 years, the ratio between the ages would be 9 : 10. What will be the
age of Ranjana after 6 years?

A)34 Y / 34 years B) 36 A¥ / 36 years
)40 Tu / 40 years D)30 qu /30 years

36. G{&ITWﬁCBTWI / Complete the sequence.
W, T,Q,N,?
Al B) K
OH D)G

37.fawa |
ol ; Abal ; oiFe! ; g1t /
Find the ODD one out.
Dog ; Spider ; Fox ; Elephant

A)®IIS! / Fox B) $1T / Dog
C)IIT:b_s_Df / Spider D)ETQﬂ / Elephant

38. 3{UST JUIHTST HH & YR W FHfoRId 3eR Sae § Uz g (7) & RIM W &1 S{1E? /
What should come in the place of question mark (?) in the following letter series based
on the English alphabetical order?

JFMAM, I J,?

A)S B) O
QA D)N
39.%H H Iafyd HIfoTu|

1AM 2. 7(dqo 3. 3MRETT 4. Fie Bl JUSSA /
Arrange the sequence.
1. Travel 2. Destination 3. Reservation 4. Availability of seat

A)1,23,4 B) 2,4,3,1

03412 D)1,4,3,2
40.94H 6 UTpd GTaT T 3 gargl/

The average of the first 6 natural number is

A)3.5 B)5.5

025 D) 4.5
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41.20 91E, 1991, B FYIR TS &, 20 A, 1992 &1 I T faT ur? /
On March 20, 1991, Wednesday falls, what was the day on March 20, 19927
A)TTRdR / Thursday B) HTGAR / Tuesday
C)X[PAR / Friday D) z1MdR / Saturday

42 fdu &Wﬁwmmaﬂﬁm / Find the missing number in the given sequence.
2, 12, 36, 80, 150, ?

A) 220 B) 252
€212 D) 248

43.9fQ TS 368451729 & 3| DI RIG! shH H AR b1 WY, dl fobe 3iepl bt fRufa
A X707 / If the digits in the number 368451729 are arranged in ascending order, the
position of how many digits shall remain the same?
AT / Three B) TIdl / Five
Ol / Two D)T& / One

44 HSR A {5 o7 ol w16 g paT oA 82 /

Which day in the calendar is called the Children’s Day?

A) 1 SFTaRT / 1% January B) 15 3 / 15" August
C) 14 G} / 14™ November D) 25 f&HeR / 251 December

45.97¢ 31fid fiig &1 WIS &; g 9 &1 98 §; IR a1 e &1 e g, @ e sifta © forw
UHR Gafdd g2 / If Amit is the brother of Bindu; Bindu is the sister of Chetan; and Chetan
is the father of Seema, how Seema is related to Amit?

A) ll?ﬁﬁﬁ/ Niece B) g / Sister
C)Hl / Mother D) 3ffct / Aunt

46.24 % TUMES! &1 3T (G2HGI & d1 &l 3! g Afepied) T 8? /
What is average of factors of 24 (rounded to two digits after decimal)?

A)7.50 B) 4.28
C€)5.00 D)4.85

47512 fRU U 61 ¥ U 18R Tod B | Tod &R B UgdaH Hiere| /
In the below sequence, one of the letters is wrong. Identify the mistake.
Al Cl E' G' J' K' M' o

A)C B) M
QK D)J
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48 fawq g1
foer; = fim; wig
Choose the ODD one out.
Father ; Mother ; Friend ; Brother

A)HI / Mother B) fUrdT / Father
C)'J-I'Ig/ Brother D)ﬁﬁ[ / Friend

49. 41, fagH 3t 9t |1 AG, 33T &1 el g | afe fassw, Y2 &1 ufd § @ °rg, faswa &1

g1/ Diya is the daughter of Vikram. Manav is the son of Reshma.

If Vikram is the husband of Reshma, then Manav is the of Vikram.
A)ﬁ?ﬂ/ father B) aET/ son
C)Tﬂ?ﬂ / grandson D)dIHT / uncle

50. 9T AT 9 & U F(al B JHAaRYd HifoTe | /

Arrange the information in logical manner.
painter / brother / good / my / is

A) Is my brother good painter
B) Painter is good my brother
C) Good painter is my brother
D) My brother is good painter
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Part -1l (51 -150)
51.21 YT Wie! &I U 1Y JRI&d =0 § Rde HA &1 A Ufehar 1 g, 3R 39 ufehar §

T IUBHRUT BT BT T 82/ What is the standard procedure for securely riveting
two metal plates together, and what is the function of each tool involved in this process?

A) T B! W} B I, I8 des B, 3R fhR AT T / Cut the metal plates, weld them,
and then apply the rivet

B) 1 Wiel IR USeRIG @Y, I Sidhg 3R b Rae @M / Apply adhesive to bond
plates, clamp them, and then apply the rivet

C) el § & &, Ry &1 1 &3, fhr 38 JRIEA B & fore g4sT @I / Drill holes in
plates, apply heat to rivets, then hammer them to secure

D) Wil H Bl & WIEd v, e ST, YT B F oy Sl 3R WU BT ST B, 3R
PIAD SIg Bl FRIE0 B /

Align holes in plates, insert rivet, use dolly and snap to set, and inspect the rivet joint

52.fo ® fo@Y SER, WRIE (@) W AT AHR B HH-axgsf &l Udhe & fou fy
WWWWG’W%7 / Which type of chuck is best suited for holding irregularly
shaped workpieces on a lathe as shown in figure?

—\ =%

il

Afes 9 /

Magnetic Chuck Four Jaw Chuck Three Jaw Chuck Collet Chuck

A) W\%_C’W/ Collet chuck

B) q’ﬁT-Gi\TJW/ Four-jaw chuck
Q) M- g / Three-jaw chuck
D)W ddh / Magnetic chuck

53.7g SXUTd &1 guf Zfic &1 A MHR T 8?7 /

What is the standard size of a full sheet of mild steel?

A) 1220 fAt x 2440 it 7 1220 mm x 2440 mm
B) 1219 fiHT x 2438 T} / 1219 mm x 2438 mm
) 1500 THHT x 3000 fH#HT / 1500 mm x 3000 mm
D) 2000 &t x 4000 &Y / 2000 mm x 4000 mm

54, 4R} AR I3 & foT ST (Sliorsh) BT IUTN D JHY, IUTUA 1 Uichal & JHY
IR YA HRA &b S AgaY0l BRSPS FT 8?2 / When using slings to lift heavy

machinery, what is a crucial factor to ensure safety during the lifting process?

INEEaEul Sling colour

B) T o Fa18 / Sling length

C) R Bt e 3R fAteqor / Sling capacity and inspection
D) &7 &1 8IS / Sling brand
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55.150 foeft forg sy aTeT v R, 300 et firg sorg ares gk R & a1y AT e XET 8|
R Rew &1 a7 Hﬁqﬁ?ﬂf%? / A gear with a pitch diameter of 150 mm is meshing
with another gear with a pitch diameter of 300 mm. What is the velocity ratio of the gear
system?

A)1:2 B)y2:1
O1:3 D)3:1

56. U B Uik & THY T HUIST Hel & ATHRIG: DHIF-T dIH ST SIS 38T St 82 /

What is the typical temperature range maintained in a cupola furnace during the melting
process?

A)800 - 900°C B) 1000 - 1100°C

C) 1200 - 1300°C D) 1500 - 1600°C

57. 3TARE I Tdg! oY b ol R &1 a1 & U fhy UeR o7 ThuR Jad Iugad &2 /

Which type of scraper is best suited for working on internal curved surfaces, such as
bearings?

A) TSC TR (FHIS W) / Flat scraper
B) gh W / Hook scraper

Q) 31-TM® TR / Half-round scraper

D) s ufig W / Triangular scraper

58.Ud SOATHR ¢ Bl Sals 3 Hiex 3R YR BT 1.5 W 81 TF &1 $o Y8 &30 i
e o fraT 82 / A cylindrical tank has a height of 3 meters and a base radius of 1.5
meters. What is the total surface area of the tank in square meters?

A)28.3 i Hiex / 28.3 m? B) 33.0 gf Hlex / 33.0 m?

Q424 T HeR /424 m? D)47.4 T e / 474 m?
591%@'&'5@?[13[@[303[:[@@%3133%? / Which one of the following is a rigid drive?

A)éc—c’ssa/ Belt drive B) a‘f@g_q'/ Chain drive

C)ﬁtrssa/ Rope drive D)ﬁlﬂ?@%‘d/ Gear drive

60. farelt faRIW VAT & foU aizR &1 T R WY fAfRy U Q 39 SMHR HI AT vy

@1 ST 82 / How is the size of a washer typically calculated when selecting it for a
particular application?

A) U BT 9 3R It &1 Aers /
Diameter of the screw and thickness of the material
B) TR &1 18-} U 3R ¢ BT AR T /
Outer diameter of the washer and inner diameter of the hole

C) HR &HdT 3R AHRR &1 drehd /
Load capacity and material strength

D) S YUIoH &1 $& BaTs / Total length of the fastening assembly
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61.F0 A § B TR SR w2fF TR & ot Urufliies 3fark HIF-T18? / Which of the following is

the primary difference between a hand reamer and a machine reamer?

A)%E’ﬂmmﬁmwam%/ Hand reamers have a longer body

B) WWWWEH@WW%/ Machine reamers are used manually
Q) 28 SR H iR 2 BiaT § / Hand reamers have a square shank
D)WWW&E@@@?{%/ Machine reamers are made of carbide

62.3C S HISHIHICR ! &1 H a-aR AIZhIHICR BT ITINT HR- &1 ol BTH 87 /
What is the advantage of using a vernier micrometre over a standard micrometre?
A) R IITE"Qﬁ'fﬁET BT IYANT BT T % / Vernier micrometres are easier to use
B) R AR tlﬂ'ﬂ?s{ {fET A 8 / Vernier micrometres give precise readings
@) aﬁmmsﬁiﬂa 3w fepra Eﬁ?f%/ Vernier micrometres are more durable
D)?ﬁsziﬁ Iﬂ%ﬁﬁﬁ CRIGIRSE % / Vernier micrometres are cheaper to make

63.%¢ R 3R HUSE Blavel RIS & aid T SieR 1 52 /

What is the main difference between straight snips and compound leverage snips?

A) @A_c'ma@@ﬁ% / Straight snips are larger
B) Q?mﬁ YT eSP B § / Straight snips have offset handles
O) PUNEE Slavel Raeg & 1 UGy Bt 3azdehdl gidl & /
Compound leverage snips require less effort
D) FHES Flawl R H cldaR D Bl 8 /
Compound leverage snips have serrated blades
64. 71 BT HH-TT I 3 faggd aRI & ST & fou srfiie Iugdd s |72 /
Which property of copper makes it highly suitable for electrical wiring applications?
A) 8 9@ / Low density
B) 3 a1 AqHE / High tensile strength
C) 3o HeRUT ufeR1e / High corrosion resistance
D)WWW / High electrical conductivity

65. 19 & BT & THY WAHSD Uch! b JHWNR WGV B §id P 6T HH-1 e
B'CIWWG'CIQHH 8? / Which erection tool is best suited for checking the vertical
alignment of structural components during foundation work?

A)PIER / Crowbar B) R &a® / Spirit level
C) W4 d1d / Plumb bob D)J&! &1 / Pulley block
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66. Fmfarsit 3R URHT AM® &R A V-3 & T &I AFGIHd a1 § | B8 g-are! Ui
8 Z A B, C D 3R E o v-dee & faftrar sorg-darm & fou My fobar mar g1 e-Ja—M
Wﬁﬁﬂﬁ@gﬂ% / The manufacturers and the Bureau of Indian Standards have
standardized the dimensions of the V-belts. There are six basic symbols: Z, A, B, C, D and
E are assigned for different cross-sections of V-belts. What is the pitch width of the E-
section belt?

A 27 ot/ 27 mm B) 8.5 faHt /8.5 mm
O 19 fHt /19 mm D)32 fHt /32 mm

67.7d-f3@ T U 3¢ & U TR &1 999 oa 1T, B & MHR & fou IHr fFaw a1

? / When selecting a reamer for a pre-drilled hole, what is the general rule for hole size?

A) IR I & gHE H[DHR / Same size as reamer diameter

B) IR I & 2hST §3T / Slightly larger than reamer diameter
C) IR I T YIS Bt/ Slightly smaller than reamer diameter
D) Ife TR 4 & T B BT HMHR AR e} @l /

Hole size doesn't matter if the reamer is sharp

68.F0 & q DI9-I U1 3role A Sl § SR ARy wu I e ufRly ot srazgdhdr are
Wﬁwaﬁ\ﬂ?ﬁ 87 / Which of the following metals is considered non-ferrous

and typically used in applications requiring resistance to corrosion?

A)?IT@T/ Copper B) F BIgT / Cast iron
C) 3T / Steel D)feal ®1gT / Wrought iron

69.73® foT 1 TES A (FTS) THY, ITAH UG & [OT Tel ST ST T[T Iz ¢
aH® fite f$e @RI a3y & UEs Hd I9Y fore T a1t W faaR &1 91fgy, 3fiR @
%I%mcr@ma%%éuwﬁaaﬂﬁ%?/wmn grinding a drill bit, it is essential to maintain

the correct geometry for optimal performance. What are the key angles to consider when
grinding a standard twist drill, and how do they affect the drilling process?

A) IS BT, S G IR e fafor 1 gifad st § /
Length only, affecting efficiency and chip formation
B) o oI, Sif Gafdl SR g o &1 guifad e 8 /

Diameter only, affecting efficiency and chip formation
C) Haw foig FHIoT, ot gerr 3R fora fFmfor ot yaifad axar g /
Point angle only, affecting efficiency and chip formation
D) foru, FTRT SiR fofg o1, St e o fg fafor & fad s 8 /

Lip, clearance, and point angles, affecting efficiency and chip formation

Page 13 of 33




70.R3eq Tt HH-T 3Tazge YT § S I W Fifs BReRI & 0 § IuNT & fog
JUGA §IH &, 3R F FIRAWdTE e &t Aol dl b gl 82/
What are the essential features of rivets that make them suitable for use as permanent
mechanical fasteners, and how do these features enhance the joint's strength?

A) RITH BT SXIARA A B SARADB 6] Bl &, oI I5 TR ST B STl § /
Rivets do not require installation tools, making them quick to apply

B) Rac geh WIfied A T B1d &, ORI 39T Hl o H 1 ST & / Rivets are made
from lightweight plastic, reducing overall weight

C) oy Tt BReR Bd €, R T_evd Us+ R 3= T ¥ 8l o 9ahdl § /

Rivets are temporary fasteners, allowing for easy removal if needed

D) Racy & SaIER WU 3R e ara RR 8T 8, St SiS &1 Asiacil &I 9gIdT € / Rivets

have a cylindrical shaft and expanding head, which enhances joint strength

71. T 3ic=+! Iehl Y Pled & fOTU fHY UBR & AU &1 IuanT fbar wrar g2 /

Which type of snip is used for cutting tight inside curves?

A)@,\?m / Straight snips

B) Wvﬁ?m/ Offset snips

C) HUSS Blavsl AW / Compound leverage snips
D) ufauz W / Aviation snips

72. 911 Yo feve f3o @RISt du) & fou e foig sior o g, 3R a8 @i fgfem
CELE) HI HY gHIfad BT 82 / What is the standard point angle for a general-purpose
twist drill, and how does this angle affect drilling?

A) 60°, TR TR & U g & /
60°, suitable for soft materials
B) 90°, Gdle 3 & fou amezi g/
90°, ideal for precision drilling
C) 118°, HTe 3R fau gem & Ugod aal g /
118°, balancing cutting and chip removal
D) 135°, FTe &I Gefdl | gfe T § /

135°, enhancing cutting efficiency

73. 9% o1 $ e &, g & ¥ H-91 I8 33T 90 I & [ T aizR foreht oot o
Tifid @14 H fd YR GRTEH a1 872 / In the context of mechanical advantage, which of
the following best describes how a washer contributes to the mechanical advantage in a

system?

A) BT T el G HTH;UT) ﬁaa?n% / Increases applied torque

B) Eﬁﬁ% o gef0T Y HRAT § / Reduces friction between parts

C) qdld & H A B m YR faaia s=ar %/ Distributes load to reduce pressure
D)Q}Jﬁ UIGE:D] deldl 8 / Enhances rotational speed
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74. 3R Qs SR § Ugad 819 aTeT Jad AT dTa- W1 o1 872 /
What is the most common heating medium used in most soldering irons?

A)Wﬁa/ Ceramic Heaters

B) ﬁ?ﬂﬁ?ﬂﬂ?m/ Electric Heating Elements
Q) 19-a1fed AU / Gas-Powered Heating

D) ORI a9 / Induction Heating

75. NS ST & To DI go-1 H TegH-ad &1 ST dx- &I NUfHe oy g § 9

DIF-T1]? / Which of the following is a primary advantage of using aluminium over steel
in industrial applications?

A) PH YR / Lower weight

B) SgaR HAMHfSIeC! / Better machinability

O 3 demRor Qﬁlﬁ‘&[/ Greater corrosion resistance
D) 3= dR d- A / Higher tensile strength

76.%% B¢ b IATG b THY BRE 1 (ATl 1) H T TR e &1 I 352 |82 /

What is the main purpose of adding limestone to the blast furnace during pig iron
production?

A) YAIH Toic &b U H B HIAT / Act as reducing agent
B) SRl H YUR / Improve hardness

Q) ﬂ@ﬁaﬁ W%Wﬁ gCI1l / Remove impurities as slag
D) ﬂ-lgcf P dIUHT delHT / Increase furnace temperature

77.%01C Hed & &1 ¥, P SR PR & & [T Lo SHTaRaeh IUPRUI § | o Bl YU
fIRIvaTd o1 &, 3R d Iad A=A o1 SrIufUfd F o1g BT 3MHR 37 & $HY TE HRd 87 /
In sheet metal work, stakes are essential tools for bending and forming. What are the
primary characteristics of stakes, and how do they facilitate metal shaping in the absence
of advanced machinery?

A)éwwmﬁaﬁéﬁ%,ﬁﬂﬁémaﬁ?wmﬁﬁ&mﬂaﬁ%/ Stakes are made of

plastic, making them lightweight and easy to handle

B) TR T IUTNT fa=Iy =0  u1d Pt e o 3MHR T Hlex & o fowar SIrar 8 / Stakes

are used exclusively for cutting metal sheets to size

C) Rag W 3} FgTE 1 § S 41g 1 81U ¥ 3MHR 7 & AU U 31 3MYR UG FHRalt o

/ Stakes are steel anvils that provide a solid base for shaping metal manually

D) R BT ITANT T ¥ Y U1 & HTH & SR HATHI HI A0 & fore fsan Sran g /

Stakes are mainly used for measuring dimensions during metalworking

78. FEfoRad & 9 HH-t 41 B1 & Tea-iHxul & Afhhe TS (SN U18) & ¥9 §
JUTNT &Y STl 82 / Which of the following metals is used as a sacrificial anode in
galvanization of iron?

A) ST (W) / Zine B) @laT (BIWR) / Copper
C)Te / Carbon D) fafdesi / Silicon
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79.9f¢ 'm' fa/fer & dee S18d B! 2fad AR B & U P BT YRS 9-1d feam San g,
al ifeaH R TR & ST diee BT 3FH a7 (v) FafeRad 3 fow Jeiy R vam
fa1 ST 82 / If a belt drive of 'm’ kg/meter is given an initial tension of P to transmit
power, then the optimum velocity (v) of the belt for maximum power transmission is
provided by which of the following relationships?

N [P 8) _ P
V= am 3m

O v=vPm o v=3Pm

80. 919 3R TS Wi TAIHS "eh| Bl 991 & [OU [Hg UBR o1 Irel Hle- Lo Jaa

B'CIQEH%? / Which type of plain carbon steel is most suitable for making structural
components like beams and girders?

A) 3ISTR 3T / Tool steel B) f1% &TeF 3¥TA / Low-carbon steel
C) 3 P16 W / High-carbon steel D) H&H P16 WA / Medium-carbon steel

81,979 frft o P! ISP T 318 & $aad 9o R YA fosan S1r € af fbd bR &1 Hagu
TN foraT ST 82 / What type of projection is used when the object is projected onto a
plane perpendicular to its principal axis?

A)ﬂﬂﬁ?ﬂﬁqéﬂqm/ I[sometric projection
B) BE®IUIY Y&TUT / Orthographic projection
) uRkuied gagur / Perspective projection
D) 31&fHfdd U&UUT / Axonometric projection

82.30 T 3R T AfET A JRe & U $3 W a1d Bl §1 3o Taee AfcsT & oy Hi-
W{R&ﬂ HIaYT! sRa-1 =g E? / Electric and gas welding each have specific safety
considerations. What is a critical safety precaution specific to electric welding?
A)ﬁﬂwmmﬂaﬁ/ Use a gas mask

B) SO YU &1 I=UT UgH / Always wear sunglasses
O Mot aRiRufaar ﬁ?ﬂﬂﬁ/ Work in wet conditions
D) H2H & Iferd Adfe (%U#D {-[ﬁ'%lﬁav_\\’ / Ensure proper machine grounding

83. WIREH YR 3R R-TRANSISTS (oid i) R & Fuer & fou forg 1
& oG & HIS BT IYANT {1 ST 82 / Which dustbin colour code is utilized for the
disposal of plastic wrappers and non-biodegradable waste?
A) TS BSI&M / Red dustbin B) @1 %SIG / Blue dustbin
C) eI dSlald / Green dustbin D)Tﬂ?ﬂ P STal / Yellow dustbin
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84.3d 3R FSTST (TN SITFART & ST IHIa: fhd YR Bt 3 zfte &1 Iudi fear
ST 82 / Which type of coated sheet is commonly used for roofing and cladding

applications?

A) 3egHITH / Aluminium
B) oY WIS / Stainless steel
C) TeaTIESS (SRidd) ¥ / Galvanized steel

D) fer-wes e / Tin-plated steel
85.fafofaa & @ & It frer-Hife ufshar arsy SHG damie 872 /

Which of the following film-coating processes is a vapour deposition technique?

A) ST 9FBTRIT / Wet etching

B) ﬁﬁ@'ﬁ@?ﬁ"T/ Magnetron sputtering
O TiRfe Q;Iﬁﬁ"l/ Porcelain enamelling
D) Y1g 3{IdRUT / Metal cladding

86. SCTHIH TS R o A iy o1t 8, e sexzmo sioi fSimze Riked (1ADS)
ERT 2000 ST & =4 H 1fHd foran wa g, Fafofad & § frg 7 3 Sieiia 9 9 St
G’I?ﬂ%? / Aluminium age hard enabled alloys designated as 2000 series by the
International Alloy Designation System (IADS) is also popularly known by which of the
following names?

A)ﬁ'@lﬁmﬂ/ Magnalium B) SR @Iﬁq / Duralumin
) Rrgfi / Silumin D) SR&-TGHIaH / Beryl-aluminium

87.199 T T HI9-1 JRef IuehRur fagya yonfedt & y-aret & JRem & fou fewe fasar mn
87 / Which of the following safety devices is designed to protect against ground faults in
electrical systems?

A) WS / Fuse
B) Iof gieaex / Surge Protector
C) gfdhe §HX / Circuit Breaker

D) WSS WieT Aldhe $EER (GFCl) / Ground Fault Circuit Interrupter (GFCI)

88. 71 AT &, T RS & TaTe- & Yaie § a1 raeTit sRa-1 AMfgu? / In gas welding,

what is an essential precaution to take regarding the handling of gas cylinders?

A)TE I EAG ARG GITBE S /
Leave cylinders open when not in use

B) AfeE™ & T fopeit +ff TR & T RS &1 Swm o /
Use any type of gas cylinder for welding

C) o for it Sraerit & RYSSRA B TR & S W /
Store cylinders indoors without any precautions

D) RSt & Ttenn T SR i ¥ R T /

Secure cylinders upright and away from heat
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89. Ufdadf TSt &1 IUANT Ueh W= IR-STS IS TP P [WRAF 3R ey Bl fbg YR
TUIfad &1 82 / How does the use of reversible jaws affect the maintenance and
longevity of an independent four-jaw chuck?

A) SRR AP TR BT AIZIBT Bl § /
Requires more frequent maintenance

B) Jebietich Helg Ua b AIuig Sl @ /
Extends longevity by providing alternative surfaces

C) UFARITTA D! HH FHRob I@WTG Bl WG 11 © /
Simplifies maintenance by reducing replacements

D) §uig R BIs Heaqul YHTd T8l /

No significant impact on longevity

90. TR 1 &t 98 T fa=iva 1 8 ot 38 o et & 31w vl 87/

What is a key characteristic of spur gears that differentiates them from other gears?

A) ‘{Uﬁ 3{& & PV IR Gid DI HcH / Teeth cut at an angle to the axis of rotation

B) TTfa 7 fezm Ela_c’ﬁf & %QG'CI'Cﬁ"T foar Srdn % / Used to change the direction of motion
C) YO 3f&f & JHMIAR W18 GId / Straight teeth parallel to the axis of rotation

D) TR-JHMIGR ¥Y ¥ TATG / Operate non-concurrently

91.3ffe yrg &1 A TS &1 wufis s e ge /

What is the primary function of a trammel in sheet metal work?

A) Iﬁ?l'scIITCFIT/ Measure thickness

B) E@EHU ﬁ?@ﬁﬁﬂ%ﬂm/ Mark large arcs and circles
@) ?ﬁ%ﬂ%@ﬁm/ Cut straight lines
D)U@ﬁﬂﬁﬁszﬂ/ Bend metal sheets

92.U% W7 IR-IES I TP & [UDe! e WR fPY T AN ol Ie30 /T8I 82 /
What is the purpose of the adjustments made on the back plate of an independent four-
jaw chuck?

A) TIES B! BaTs §G& & ST / To change the jaw length

B) RUS® (Y & Ty TWRAd H= & f3T / To align with the spindle
@) ORI 96 B! AR H1 & &/ To adjust clamping force
D)@ﬁﬂ%ﬂﬁﬁﬁﬁﬁﬁﬁ?@/ To control rotation speed
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93.f&a foey faftid smeRl & Iuas §, 3R T SR &1 T899 HRA1 Hedqul &1 3T faradt
fafRry Sy 3 e It f3a SR &1 FefRo B8 X € 3R syan uRumHl & forg fea
WWWWWW? / Drill bits are available in various sizes, and selecting the

right size is crucial. How do you determine the correct drill size for a specific application,
and what factors should be considered for optimal results?

A) IS HHR Hao SFIH IR & fou /
Available sizes only for optimal results
B) f$® Pt S a1at Wl shae s¥ad uRumdi o fou /
Material being drilled only for optimal results
C) fs® T &1 TSR Hao svad uRumdl & fou /
Type of drill machine only for optimal results
D) D¢ BT PR, T 3R IUS= THR IPTH URUITHI & T /

Hole size, material, and available sizes for optimal results

94. AR ArgeRIHeR BT AN IR ol o B! AU Ty, Wi W AT 7.5 faredt S R,
3R s 13 fediem feama g1 sitm Ao @ 82/

When measuring an object using a vernier micrometre, the reading on the sleeve is
7.5 mm, and the thimble shows 13 divisions. What is the final measurement?

A)7.53 fadt 7 7.53 mm B) 7.63 fHt /7.63 mm
C)7.65 At /7.65 mm D)7.70 ¥t / 7.70 mm

95. Tl +ft AT BRI Bl R B A UgS $© WaYIAT SR =feu | AfedT (& S A
Wﬁuﬁﬁaﬁq@mﬁﬁaﬁa@m / Before starting any welding operation,

certain precautions must be taken. Which of the following actions should be performed
before beginning to weld?

A) ﬁ?&ﬂm DI 3G/ Ignore safety protocols

B) farddt oft U afed™ M &1 SUANT / Use any available welding rod

C) FUHRU Bt Gﬂﬂﬁﬁqﬁ:ﬂa%ﬂwﬁ / Start welding without checking equipment
D) JUPRUN T Y& Y SR Sao12ie el &l gerd /

Inspect equipment and clear flammable materials

96. AR-SITS TG Tb ! &1 A di-o18S IS T BT SUINT B BT T-I STH T 87 /
What is a key advantage of using a three-jaw chuck compared to a four-jaw chuck?
A) 3 FOTRIT §& Ue™ HR1 & / Provides higher clamping force
B) ddl 3R Y3y FHA | 3T / Quicker and easier to set up
C) SIdS BT Wi AR ¥HT / Allows independent jaw adjustment
D)3= qﬁ“{l@?ﬂ & TIY gHUN BT YRUT HAT / Holds workpieces with higher precision

97.0% R ey &1 37 3u1d 4 : 1 81 Af 399 1 120 rpm 8, A rpm T 3M13TYE 16 1
87/A gear system has a velocity ratio of 4 : 1. If the input speed is 120 rpm, what is the
output speed in rpm?

A)30 rpm B) 40 rpm
C)60 rpm D) 80 rpm
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98.U% AW ArgehiieR 3R fi-3MHR & TAfAS &1 IUAN FReb by et W 9 WRifiex &t
AT 7 ¥l 82 / Which outside screw thread parameter can be measured using a
special micrometre and V-shaped anvils?

A) &b 98 &1 fUd / Pitch of screw thread

B) &b XS Bl Wl'l:l:cﬁ MY / Minor diameter of screw thread
C) ¥ XS B BT Y / Major diameter of screw thread
D)¥h %S BT YT AN / Effective diameter of screw thread

99. 7R Bt TS 3R Tifyd 3Ieye Wis & 1Y for-t &1 R FRuila H & 7w fafdy

EP:IT%? / What is the standard method to determine the size of a pulley with the motor
speed and desired output speed?

A) SIS 2MMUE & A & YR WR / Based on the diameter of the driving shaft
B) Soe B HR 3R Il & YR TR / Based on the load and material of the belt
C) Hiex Pt TS 3R IUHRT Bt WS 30T & MR W /

Based on motor speed and equipment speed ratio

D) HYeR e 3R el (@@ 3MTeul) & 3UTd & SMUR W /

Based on the ratio of motor power to torque

100.150 TSR HR BT 10 Hiex Pt S dP Io1 & foT fbar il g g /

The work done to lift a load of 150 kg to a height of 10 meters is:
A) 14,700 S / 14,700 ) B) 24,700 5[ / 24,700 )
C) 34,700 [ / 34,700 J D) 44,700 S[® / 44,700 J

101. A9 fHARY 3R R Tl @ Fued w1y ford UeR & S Ug-- a1fdT? / When

dealing with sharp edges and rough materials, what type of gloves should be worn?

A) WIRES / Plastic B) ¥§S / Rubber
C) BhT HUT / D) IHST 4T HICT HUS /
Lightweight cotton Leather or thick fabric

102. 88 IR &1 HIF-T1 UFT T U J B¢ & AeOH W 38 Afeziq o iR IR T
WW%WW%7 / Which part of a hand reamer is primarily responsible

for guiding it through the hole and ensuring proper alignment?
A)UIgaC / Pilot B) U2 C / Flute
C) 2% / Shank D) T TS / Cutting edge

103.91¢ $la XIe & Ffor §, fUas gu ole & Hle- &1 A6 &) $H $R- & o0 T F9 9
DI9-It Ufehar 3o St 872 / In manufacturing plain carbon steels, what is the main

process used to reduce carbon content in molten iron?
A) THTST (@arRiid) / Annealing

B) e/ Tempering

C) &TeRT @H) / Quenching

D)S PHIER goIRM (ﬁTﬂﬁTUT) / Decarburization
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104.ford THR & aIZR BT IUTNT JHIG: R B! 99 &5 H fyalka &= iR wieh 5= arat
T &1 g P & & 9 & ST fo5a1 S 82 / Which type of washer is commonly

used to distribute the load over a larger area and prevent damage to the surface of the
material being fastened?

A)FYTEI'T GIEIRY / Lock washer B) U%_c’ GIEIR: / Flat washer
o fRBFTanrR/ Spring washer D)R@e azR / Split washer

105. frg Ufteza & B8 TS WIS (HSS) T8 B qo-T § o1 BIaigs Hict ¢o o Wil &t

SITE? / In what scenario would a solid carbide cutting tool be preferred over a High-
Speed Steel (HSS) tool?

A) HH TG R -RY Jradl Hie-T / Cutting softer materials at low speeds

B) I-T1® & Y T 3R qﬁ'{!@ﬂ'{/ High-speed cutting and precision
C) ITHG-YAISH efH1 (&) TS / General-purpose turning operations
D) Gdho! Il WIRed At ol TRAFT / Machining wood or plastic materials

106. UTgeH B TS ufshan &1 urufties Iz Ay # ¥ HH-118? /
Which of the following is the primary purpose of the puddling process in metallurgy?
A) oy YTd ST dT1T / To create alloyed steel
B) 31@18 YTt HY & BT/ To purify non-ferrous metals
o« o Fle B 7= delHl / Increase carbon content in steel

D)&Iﬂ@ﬁﬁ gClhY aﬁreﬁ%ﬁuﬁwm/ Refine cast iron by removing impurities

107. 3ET ST H, TR BT IUANT UIG: AfcET SUBRUT & A1 fdT STl & | D fostor
3MMYfdf & SO AT SRR T YA I3 BT T-I BTH F1 8, [ U J v a1 J18
AT T2 / 1n welding operations, generators are often used in conjunction with welding
equipment. What is the main advantage of using a welding generator instead of a
standard power supply, particularly in remote or outdoor settings?

A) T8 U TICE0 Sl Aid U BT § o [aggd FIs I Wdd 9 3 Yenferd g Ihdi g /
It provides a portable power source that can operate independently of the electrical
grid

B) U8 URUR® faoie! 3Myfd &t o= H HH Hem gidi g /

It is less expensive as compared to traditional power supplies
C) I8 IA1o & IHT HH AR IUd Bl g/t produces less noise during operation

D)@W i e B Wﬁ@?ﬁ%/ It requires no maintenance at all

108. TS WIS TR 3R THS F dec & (ST ATUD 0 J ITAN fhT 91 910 Sl A A TH §,
s ois § See Tl @t fbat ufd=rd arebd gt 87 /
Cemented joint is one of the widely used joints for rubber and leather belts, what
percentage strength of the belt material does the cemented joint possess?

A)80 - 85% do / Up to 80 - 85% B) 20 - 25% d& / Up to 20 - 25%
C)40 - 50% dd / Up to 40 - 50% D)30 - 40% do / Up to 30 - 40%

Page 21 of 33




109. 5o TR B1 WRR SR BgoM & o, FufeRad # 4 9afiv o1 o - (/d)
GHQH?R?IT@?TEIT%Q? / For a journal bearing to be termed a square bearing, which of
the following should be the length-to-diameter (I/d) ratio of the bearing?

A) (I/d) < 0.5 B) (I/d) <1
QO (/d) =1 D) (I/d) > 1

110. UT4fAes fafdre & TeH & 39 Soq & fou =it IuaR &1 § St 316 3R G&-1d §
Wsﬂﬁmqﬁu@ﬁ%? / In the context of first aid, what is the recommended

treatment for a burn that is red and painful but does NOT blister?

A) HRA 1 dS Y / Apply butter or oil

B) {Eﬁ@ﬁmﬁﬁ/ Cover with dry dressing
C) e S ST / Apply ice directly
D)_o;%tl'l:ﬁﬁ?ﬁﬁﬁ/ Immerse in cold water

111.Uh WA IR-SIES 1S TH P SIS B! GRS B g 9 T ¥ HIH-I1 T Ugd
ﬁamﬂuﬁg%? / Which of the following is a key consideration when adjusting the jaws
of an independent four-jaw chuck?

A)Gﬁl@' DI 3P SHIHIH AT db B / Tighten jaws to their maximum capacity
B) STUd Bl & foU TS Sag P Wad U I HEIIT BN /

Adjust each jaw independently for proper centering
C) Igo- & foT Ul &1 We &l IR-IR AT /

Rotate the back plate frequently for balance

D) Ud® IUTNT T UGS I &l [AoTas J I &y /

Clean the chuck with solvents before each use

112,31 Hee & S J TN fby o d7e fafte YR & Wl H 9 31 §1H Lo [a319 =0 9
Tl B 1 39T fSoz BHeR 1 g 3R T8 o fafR1y sy & fou ged Iuged 87/
Among the various types of stakes used in sheet metal work, the blow horn stake is
particularly versatile. What is its design features, and what specific applications is it best
suited for?

| il
T

A) ﬁl@ef & T THd® A8 / Flat surface for bending
B) SR &1 3R RafdT & fou 81 3R Tdf uds A/
Short and long tapered horns for forming and riveting
OfRvETd Yrd Hled & fou/ Exclusively for cutting metal
D) 10N DI A9 o fT fSHS fdhdl 7T / Designed for measuring angles
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113. %= BIR & IdIe & [T DR B9 @ He)) ufsean & g & Q SH-91 H=al 716
3{TaZTSH 81 82 / Which of the following raw materials is NOT required in the blast
furnace process for producing pig iron?

A)®BIF / Coke B) B 3% / Iron ore
C) SegHITH / Aluminium D) AT URR / Limestone

114. 3188l o® Jldhe N Ude-Talfod I dled Bt 31 YfHdHT1 82 /

What is the role of a pilot-operated check valve in a hydraulic circuit?

A) Rie T gaTd §F1T IEHT / To maintain system pressure

B) UaTe f&= &1 FfAd %A1/ To control the flow direction

Q) WW@%TWW @ifcaTg) D1 AT / Prevent backflow until pressure is applied
D)QH%[W (Cla?f@ 3t 71 I fAfafed &A1/ To regulate the speed of actuators

115. 19 Tt 41 37Ot TR & f&T S STt § 3R 39T SUTNT Jrrgd: I &
JcdTe H fdhdT STaT 87 / Which metal is known for its excellent machinability and is
commonly used in the production of gauges?

A)W/ Steel B) WT‘?'ﬁET/ Pig iron
C)Gﬂiﬁ'?ﬁﬂ/ Cast iron D)ﬁEﬂT?ﬁ%’[/Wrought iron

116. R&M 3R & YARad B & foT afcET IuHRU & X@ETd Ag@yul 8| awex BI 3t
AFET 72 3R TgTIh JuHRUT &1 3¥aH U H 3 & g o T vewara urait
BT UTG AT AMRU? / Welding equipment maintenance is crucial for ensuring safety
and efficiency. What are some key maintenance practices that welders should follow to
keep their welding machines and accessories in optimal condition?

A) AT SuemRr o1 Fafird Femn oik TwTE o, aifvrd ol 3 oifg & 3R Ifra
HSRUI ﬁlal 2dd ®x / Regularly inspect and clean the welding equipment, check for
damaged cables, and ensure proper storage

B) SUBRUI ] IVRWG hae qul B 51d 98 g Y AT IR ST S /
Only maintain the equipment when it breaks or seems obsolete

C) fordit oft Suosy TWHIE 1o BT START B3 / Use any available cleaning solution
D) USRI B! ge-Te W & A ¢ IR I4 it Iudi & fou e /

Ignore equipment wear and tear and keep it for regular use
117.2fe Ui w1 g% Wi & fou fafky fafdzr aar g2/
What is the typical specification for hand grooves in sheet metal work?

A)0.5 fiH 18T / 0.5 mm deep B) 1 il 81/ 1 mm deep
) 10 fHH 78T/ 10 mm deep D)2 - 5 T &R/ 2 - 5 mm deep

118. 78 &  HF-I ot ! Tare & THT Ao B! S A1 16T A Bt 3 3 & o
SiTe fasan T 82 / Which of the following pulleys is designed to allow the belt to be
tightened or loosened during operation?

A) 3 feRHt / Solid pulley B) fawford foreit / Split pulley
C) ol foRAl / Loose pulley D)Slibt feRAT / Jockey pulley
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119. 759 TR 1 2fie U1g 30H e YR 3R 3= FAfH-J-UR U & ST S Sl 872 /

Which type of sheet metal is known for its lightweight and high strength-to-weight

ratio? _
A)UId® / Brass B)dldT / Copper
C) 3regHifATH / Aluminium D) NearIgT8 (SRighd) WId / Galvanized steel

120. G FUGRUI SR (hiAe-3MURd) & IR A FufeRad & 3 o9 1wy I gt

87 / Which of the following statements about chemical conversion coatings (chromate-
based) is NOT TRUE?

A) PIAT HIfET SRYRT T F I YR UfeR1Y UM Bt gl /

Chromate coatings impart exceptionally high corrosion resistance.
B) hIHC Bifc Uc, I T 3T HIEMHD [Whi-=21 & [T U 98- IRd & ¥0 H S il

g1/ Chromate coatings act as a bonding layer for paints, lacquers, or other organic
finishes.

C) OId IS A fae1 # gIcfl & A spide Py fARTY 11 Wa &R Yabell ¢ 1/ Chromate
coatings can provide specific colours to coats when the coating is in soft condition.

D)Wmmﬁ%m%l / Chromate coatings are sacrificial in nature.
121. WREFTES VAN & foU TegHiad &t Aorecd 9 |g 394 IHHIa: HH-31 fHigia

dd FreTT ST 872 / Which alloying element is commonly added to aluminium to
increase its strength for structural applications?

A) ST / Zinc B) dfa / Copper
C) 1% / Nickel D) pIFIH / Chromium

122. Uiy iR Tio & fou Fufeled 3 9 &F 91 H3- aa g 87/

Which of the following is NOT TRUE for aluminium and steel?

A) TegHifT o1 fARTY %@, ¥ ¥ 3ifds g gl /

Aluminium has higher specific gravity than steel

B) 7+t aral uRkfRufaat & vegfifon, We ot go-T & dgaR Temur ufeRiy vefia s

%’I / Aluminium exhibits better corrosion resistance than steel in humid conditions

C) TegHfa ) ST Troedl, e 3§ SeaR el g1/

Aluminium has better thermal conductivity than steel

D) TegHifad @t 7fi-iesRur &, Wio ¥ sSear g1 /

Aluminium has better machinability than steel

123. Fafofea & ¥ o9 W S SUER Ufshar & U1d 1 I Hifad dTadH adb TH BT Sl
8 dYUT I T/arg a1 d@ T ol ¥ 87 fasan ST 82 / Which of the following heat
treatment processes consists of heating a metal to its critical temperature and rapidly
cooling it in water/air or oil?

A)?ITCI'I_:Fﬂ?H (@fST) / Annealing B) THINAT / Tempering
Q) S it/ Normalizing D) RMHA @f%l"'l) / Quenching
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124,53 TP &1 FAGRId B I SF 1 [UIH, 59 §RT 3D HBHR AT IUD! IRl B! A0
Tfd &I 9o %%QW TR Tuur ufeRYY %? / Which of the following properties of

the liquid lubricant is an internal frictional resistance offered by a fluid to change its
shape or relative motion of its layers?

A) AT (ﬁwﬂﬁlﬂ) / Viscosity B) adld (am) / Pressure
C) g (SRI) / Density D) U (FBTRERIC) / Elasticity

125.70E ¢o 3R WifoS ¢ & 19 T0 &1 MG G&fdT IR 1 THTG USdl 57 / How does the

choice between a tipped tool and a solid tool impact production efficiency?

A) TS go Tt I H ol ST &FdT e H3d § /
Solid tools provide faster production efficiency in all cases

B) Wifoe ¢@ &1 qol § 0 ¢o o 3ifie IR dao- B 3MauHdl BIdi § /
Tipped tools require more frequent tool changes than solid tools

C) fete w@ @Ra iqdiRd ufaRITT & BRUT 31 caaI UeH eRa & /
Tipped tools offer faster efficiency due to quick insert replacement

D) fete To oIk Tfos o & o9 cerd H SIS Agayuf SR g 8 /

No significant difference in efficiency between tipped and solid tools

126. U WdiF IR-9IdS 1S TP Pl [UDG! We b WA P ST ATHH Ufchar 1 872 /

What is a common procedure for maintaining the back plate of an independent four-
jaw chuck?

A) JaRE Ha1e- & fou Haid U 3 Sas! oI fear o /
Regularly lubricate the jaws for smooth operation

B) Sferd IS (R & forw WRaor wownstt &t S &Y 3R 3% ol B /
Check and correct alignment issues for proper mounting

C) Aod I g & [OT IVUIBRI Tarl & 91 & /

Clean with abrasive materials to remove debris
D) eITd &1 b & ST IHI-THY W YATY / Rotate periodically to prevent wear

127.799 B O D1F-I0 IR &1 TN I YR & aTes o Hrd § foar smem fored =gaa
ERSSIN (ﬂm DI SMaRIST BIN? / Which of the following ropes would most likely

be used in a high-load capacity erection job requiring minimal elongation?

A)?‘I’RQ@/ Wire rope B) ﬁlﬂ@?@ﬂ/ Sisal rope
C) H-eT IRT / Manila rope D) T TR / Nylon rope

128. TH U Ufehan & Ty, I U J WhU Bt TS T Tag & fou ufd avf $a guds fagait
DI 3z G A g? / During the scraping process, what is the ideal number of contact
points per square inch for a properly scraped bearing surface?

A)5 - 10 fSg ufd @ 29/ 5 - 10 points per square inch

B) 10 - zoﬁguﬁraﬁéa/ 10 - 20 points per square inch
C)20-30 ﬁguﬁraﬁéﬁ/ 20 - 30 points per square inch
D)30-40 ﬁguﬁraﬁs%r/ 30 - 40 points per square inch
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129. %G1 HET, TUae™ & U azad W1 SUd B /g [ T SU BT FUIRT Bt

87/ What is the main fuel a cupola furnace uses to generate the necessary heat for

melting?
A)BIH / Coke B) @@l / Wood
C)BHe! B HIIGT / Charcoal D) UTghfae T / Natural gas

130.799 © ¥ Smarfig faggd 0 & foU I diees TR SHF-91 8?7 /

Which of the following is a common voltage level for residential electrical mains?

A)110 dlee / 110 V B) 220 dlec / 220 V
C)320@lee /320 V D) 440 dice / 440 V

131. RS (@) T2 HT HH-I1 Ueh Ig01 G20 & fo¥ Uit T+ ofR W90 UeH &dl
g sﬁwﬁ’rﬁﬂﬁﬂzﬂwgﬁﬁam% / Which component of a lathe machine

provides the primary support and alignment for the entire machine and ensures
accuracy in machining?

A)a??/ Bed B) OB / Tailstock
C)W/ Carriage D)%m/ Headstock

132. i3 HAISHI H IR BT ITAN Hd FHY TifAh BTH U DA b 6T Fra: foa fafe
T IUTNT faaT ST 82 / Which method is commonly used to obtain mechanical
advantage when using washers in mechanical assemblies?

A) TIRRI &1 TBAT TG / Increase the number of washers

B) &G-S HICTs & AIXR T SUTNT BT / Use washers of varying thickness
Q) a@* N qIeT AR TN AT/ Employ a larger diameter washer
D)ﬁﬁ-lﬁ yerf & xR &1 IUTRT HrAl / Use washers of different materials

133, DH-IT IUT (IS dATST) SUBRU JrAId: YR MM I3 & T ST fovn Srdr g
@T%ﬂﬁ@gﬂ%iﬂﬁ 3R T = I1 IR FU Bl 82 / Which lifting appliance is

commonly used for heavy lifting and consists of a chain or rope wound around a drum?

1Y

A)BISXE / Hoist B) %1/ Crane
C) BIBTOUE / Forklift D)3t / Pulley

134. FAfid SMUTASTS A STy SIR U1 fohd YR Tl & aRdfdes mura fufaar #
guTdt & § ufaferar %3 & Hee Hd 872 / In which manner do regular emergency drills
and training help employees respond effectively in real emergencies?

A) 1B T TGP FETHR / Increase job satisfaction

B) ST P HH HXdb / Reduce emergencies

C) IMRING fhea & JUR PP / Improve physical fitness
D) ufcrfeban DG §glhX / Enhance response skills
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135, feT89 TR 1 Bé-’@l R 8? / What is the purpose of a tinman's square?

A) dd &Ml / To scribe circles

B) 10N &I HIUAT / To measure angles

Q) nﬁas‘a%’rmw / To measure thickness

D) YHHIU & faIfgd AT 3R ST / To mark and check right angles

136. fop¥l] fESIER 1 i & SHealT 3 ol sy 8 dee 31 70 A & fou dee &
aﬁﬁﬁ'ﬁ%@ﬁﬁ@r B U TSGR SHTTAD 62
(i) DTS BT S aro! Al
(ii) ZYe 3R 33eye Wi
(ifi) TeRT¥ell o o b b1 g
(iv) YR ®T UhR /
For a designer to select a belt for an application from the manufacturer's catalogue,
which of the following information about the belt is required?
(i) Power to be transmitted
(i) The input and output speeds
(iii) The centre distance between the pulleys
(iv) Type of load

A) BTG (i) 3R (iii) 3MTZTSH 8 / Only (i) and (iii) are required

B) Hd (i) 31K (ii) 3ATIZTH & / Only (i) and (ii) are required

C)W (iii) \’ﬁ? (iv) &W%I / Only (iii) and (iv) are required
D) gt 3TTH &1 / All are required

137.5H0 [T & gReRefesd Ve & Uay Hf Fufofed o @ & 91 sy I T8l 87 /

Which of the following is NOT TRUE with regards to hydrostatic lubrication of journal
bearings?

A) BIESIRD Bisdhes o SR &) §1e<) caraged feufey 1t wer o g1 /
Hydrostatic lubricated journal bearings are also called externally pressurized bearings

B) B3 SRl o o) w-fpamiie fsafg ff wer 81/
Hydrostatic bearings are also called self-acting bearings

C) TRSRCIC® Gl s RICH AT THG (TR 30 GIRSISIHIHG THHEN B go-T 8§
ﬂ%ﬁ@ﬁ%l / Journal bearings with hydrostatic lubricated systems are costlier than
their hydrodynamic counterparts

D) gTsgIRefed foafted & uRfties gy 781 giarl /

Hydrostatic bearings don't possess starting friction

138.fFufofaa & @ o1 It FRUe =gHar &1 s 515 82 /

Which of the following is the Sl unit of absolute viscosity?

A)YNm?/s B) Ns/m?
C)Ns/m D)Nm/s
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139. TSI ® YU H, ford TR &1 5d T+ Ucae, Hifde Wue & forT el (@@ HTeof)
Wﬁﬁ%ﬁm?"? / In a hydraulic system, which type of fluid coupling ensures
torque transmission without direct physical contact?

A) ?I?—;@W d6d / Hydraulic clutch
B) UIfvIfed 9 / Positive clutch

C) gifA® &9 / Mechanical clutch

D) fdggagad g 94 / Electromagnetic clutch
140. HH-TT 2eq T ISH W WA [4gafi & stg o1 gl &1 quiH Hrall &, ol ¥ e &

AR HTYT ST 82 / What term describes the distance between corresponding points
on adjacent threads, measured parallel to the screw axis?

A) OIS / Lead B) fUdr / Pitch
C) S (TTEXTS) / Depth D) SHIEX (M) / Diameter

141, TR I B TegHifad &) grufiyerar fau oM &1 97 SR 31 82 /

What is the main reason aluminium is favoured in the aerospace industry?

A) 3PV 2T & 1Y & g9 / High density with excellent strength

B) 3= &I 3R FASTI / High melting point and ductility

C) ASIdd dul— HJurd & 1Y 99 99 / Low density with strong weight ratio
D) H&RuT Elﬁlﬁ%{, YISl / Corrosion resistance, conductivity

142 FEfoTad & 9 @19 Ut ufthan § we foy 91 a1 4l (W18 s & ¥ H S/ 911 9)
IR TS Tl & ol SR diees T ST A el B, St a1 dl We &1 S adt o
Bidl § U1 U ITo® sodcIose B SURIIT § Ub RSy soddis glaie? /

Which of the following processes involves an application of DC voltage between the
parts to be plated (that is made as a cathode) and an anode material, that is either the
metal to be plated or an inert electrode in the presence of a conductive electrolyte?

A) SCISICT (fdGgd OUA) / Electroplating

B) fIcaAISIORT / Galvanizing

C) TAISTISRONT (YARAHRYN) / Anodizing

D) 3&acIod W (f[Aggdgiy &T) / Electroless plating

143.799 ¥ 9 gsfom ufhar & ey § Iafed UTg &1 U Ui HH-91 82 /
Which of the following is a key property of the metal produced through the
puddling process?

A) 3= FAIGTUA / High ductility

B) 3= HIRdT / High brittleness

C) f9% &P / Low melting point

D) 3 H&RUI UfcRIY / High corrosion resistance
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144,20 B 7S & foU qmmgd: feg wrlt &1 Iugh far Srar g2 /

In a trammel, what material is commonly used for the rod?

A) D! / Wood B) WIRe® / Plastic
C)YdS / Rubber D) ¥Td / Metal

145, FEfERIT & I 1 F Gag WA Th-1e # 9 S T 1 ke 7ead § I
TrEeIoM & WU | TS 82 / Which of the following surface modification
techniques consists of exposing the component to nascent nitrogen in a gaseous or
liquid medium?

A)WE’I@&W/ Flame hardening B) $Ié?|$|ﬁ‘ / Carburizing
(OGIEHES ST/ Nitriding D) TR / Tempering

146.9c< $13d H Ugad dee Uerd &1 FUfoRad & 9§ & a1 aie-1d o 82 /

Which of the following is a desirable property of a belt material used in a belt drive?

A) See Terf § ot & 1Y gyl T 0T Y g1 A8y /
The belt material should have low coefficient of friction with the pulleys
B) See U # 3= a4 I gt =iy /
The belt material should have a high tensile strength
C) Yo verd # w1 forra uferly g1 =nfge /
The belt material should have low wear resistance
D) ¥ Ufdee I ¥ & foT dee yerd €¢ g a1fge /

The belt material should be rigid to avoid bending stresses

147. tfyhzH  faftd IR & o1g SiS), S 92 SIS, &0 S8 3R Hi-R SiIg &1 SUdIT
ST 8| &1 SIS & e fARIvaTy o § SR SUhT WHad: SYART 0 fosan STt 82 /
Different types of metal joints, like butt joints, lap joints, and corner joints, are used in
fabrication. What are the main features of a lap joint, and why is it commonly used?

A) T ZHS! B SHERGY (AT BT &, IRIT HAT A & /
Overlaps two pieces, easy to align

B) TS TIE &7 & U SNROGY &all 8, Totgd 3R fRR /
Overlaps for larger surface area, strong and stable

C) T&IH TGO BT TSI BIcll &, (AT TRAT HISA BT & /

Requires precise alignment, difficult to fabricate

D) $a® Jollde & foT IuaNT fhar Sran g /

Used only for decoration
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148. 9aY ATIH U F TR GHT-3Me1Rd TieeR & Jd Uedh 1 &, qUT BT Y TS
T 8? / What are the main components of the most widely used lead-based solder, and
what is its typical melting point?

A) 1 3R dfe, ST 217°C R ged & /
Tin and copper, melting at about 217°C
B) fe=1 3R T, 180°C R 190°C & o< fUgred & /
Tin and lead, melting between 180°C and 190°C
C) e} 3R THT, MU 900°C R fgwd & /
Silver and gold, melting at around 900°C
D) S 3R TegHifad, T 660°C TR frg@d & /

Zinc and aluminium, melting at approximately 660°C

149. R A qaU U dg ST A A 82 /
What is the name of the instrument depicted in the figure?

A) &b O 719 / Screw pitch gauge

B) &mm / Outside micrometre
C)¥p U5 ﬂﬁﬁ'ﬁfﬂa/ Screw thread micrometre
D) &P U8 HIFW TS / Screw thread caliper gauge

150. SN ST H STy (FgH-JTHT) 2Meg &1 1 31 g2 /

What does the term "tolerance" refer to in engineering drawings?

A) fargit U & T Sl &t wWierd T/
The acceptable range of dimensions for a part
B) el 1 T DI / The colour code of the material

(@) ﬁﬁ'ﬂfﬂ%ﬁm 3TaRYP HY / The time required for manufacturing
D)W%@T\?ﬁ aﬁﬁl?l'ﬁt / The thickness of the drawing lines
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[ Do not open this question booklet until asked to do so. ]

INSTRUCTIONS TO CANDIDATE

1. Fill up the necessary information in the space provided on the cover of Question Booklet and

the Answer Sheet before commencement of the test.

2. The duration of the test is 2 Hour. There are 150 questions.

3. You will not be allowed to leave the examination hall till the exam gets completed.
This booklet contains 32 Pages. Please check for completeness of the Question Booklet
immediately after opening.

5. No spare Question Booklet or Answer Sheet will be provided. Do not make mistakes.
Replacement will NOT be provided under any circumstances.

6. Each question has four answer options marked (A), (B), (C) and (D). Answers are to be marked
on the Answer Sheet, which is provided separately.

7. Choose the most appropriate answer option and darken the circle completely, corresponding
to (A), (B), (C) or (D) against the relevant question number.

8. Use only Blue/Black Ball Point Pen to darken the circle for answering.

9. Please do not darken more than one circle against any question, as scanner will read such
marking as wrong answer.

10. Once an oval is darkened as answer to the question, it is final. Answers option once darkened
cannot be changed.

11. Each question carries one mark. There is NO Negative Marking.

12. Rough work, if any, is to be done on the Question Booklet only. No separate sheet will be
provided/used for rough work.

13. Calculator, Mobile, etc., are not permitted inside the examination hall.

14. Candidates seeking, receiving and/or giving assistance during the test will be disqualified.

15. Do not seek clarification on any item in the Question Booklet from the test invigilator. Use
your best judgment.

THIS QUESTION BOOKLET AND OMR ANSWER SHEET ARE TO BE RETURNED ON COMPLETION OF THE TEST.

Please fill in the following details using ball point pen.

Roll No.

Name Signature
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(MFI) Attendant Gr-1 (Mech)- Fitter - Version A

Question Answer Question Answer Question Answer
No keys No keys No keys
1 D 51 D 101 D
2 C 52 B 102 A
3 D 53 B 103 D
4 D 54 C 104 B
5 C 55 B 105 B
6 D 56 D 106 D
7 B 57 C 107 A
8 B 58 C 108 A
9 A 59 D 109 C
10 B 60 B 110 D
11 D 61 C 111 B
12 C 62 B 112 B
13 D 63 C 113 C
14 C 64 D 114 C
15 A 65 C 115 A
16 C 66 D 116 A
17 B 67 C 117 D
18 A 68 A 118 D
19 A 69 D 119 C
20 A 70 D 120 D
21 C 71 D 121 B
22 C 72 C 122 A
23 D 73 C 123 D
24 A 74 B 124 A
25 A 75 A 125 C
26 B 76 C 126 B
27 C 77 C 127 A
28 D 78 A 128 C
29 D 79 A 129 A
30 C 80 B 130 B
31 A 81 B 131 A
32 D 82 D 132 C
33 C 83 B 133 A
34 A 84 C 134 D
35 B 85 B 135 D
36 B 86 B 136 D
37 C 87 D 137 B
38 C 88 D 138 B
39 B 89 B 139 A
40 A 90 C 140 B
41 C 91 B 141 C
42 B 92 B 142 A
43 A 93 D 143 A
44 C 94 B 144 D
45 A 95 D 145 C
46 A 96 B 146 B
47 D 97 A 147 B
48 D 98 D 148 B
49 B 99 C 149 C
50 D 100 A 150 A
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